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1.) 1. P. is thinking of two numbers. The sum of the humbers is
163, and their deference is 33. Define the variables and erte two
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3 The perimeter of a rectangle is 78 cm. The length is 7 more
than'the width. Write two equations that would be used to
solve the system.
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4.) A cash register contains 53 coins worth $4.40 40/ They are all
nickels and dimes. Write two equations that would be used to
solve the s t@m
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5. ) McKinney Boyd Theatre sold 210 tickets and collected a total
of $1530 in t:cket gales for the Sunday mat:nee of Peter Pan
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-two equatlons that Would be used to sofve the system

Ocduls: QU gy | Lbax 5.05¢ = 1530
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6.) Write a system of equations that represents the given graph.

What is the solution to the system?
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7.) How many solutlons does the following system have? Justlfy
your answer.

28 ) Some values for two Ilnear equat:ons are shown in the tables
below /»2 “ “g‘ 0 W 20 W e
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What is the solution to the system of equations represented by

these tables? Write you answer as an order pair and justify your
answer | -
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9.)Find the solutlon (oot Dneadhod > S0k, -::rj”%'ivj?{ ey

at $A each for his new aquarium. If M:chael bought 12 ﬂsh and
spent@yo what combmatzﬁon of fish did he buy? Show your work
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12.) Graph the system: | o
' b E x5 = % L7
y = 3X 2R 7 7Y

+2y =-14 7 What is the sq%ut;onv
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13.) Graph the system and Write the solution.
8x - 2y =10 —y ot =K T
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14.) Tight Tunes charges their customers $2 per song
downloaded. Dynamite Downloads charges a $10 registration fee
to become a member and $1.50 per song downloaded
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Graph the'system(of equations.

When is Tight Tunes a better deal?
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When is Dynamite Downloads a better deal?
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What does the point (20, 40) represent in this situation? Use the
words cost and number of downloads in your answer.
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15.)Describe the graphs of the following systems of equations:

1) One unique solution 2 %e@ Lo A\ \rhl%r”&éC“t*
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